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Part I Business Valuations

1.
Reasons for Valuations and Information Requirements
1.1
A share valuation will be necessary:

· Quoted companies – takeover bid or sale of subsidiary

· Unquoted companies –
· Go public

· Merger

· Sell shares

· Taxation purpose

· Shares are pledged as collateral for a loan

· Liquidation situation

1.2
There is wide range of information that will be needed:
· Financial statements

· Summary of non-current assets list and depreciation schedule

· Aged accounts receivable summary

· Aged accounts payables summary

· List of marketable securities

· Budgets or projects, for a minimum of 5 years, etc.

2.
Models for Valuation of Shares

2.1
Asset-based valuations

2.1.1
When to use?

· For asset stripping (資產剝離) – the process of buying an undervalued company with the intent to sell of its assets for a profit.

· To identify a minimum price in a takeover

· To value property investment companies
2.1.2
Choice of valuation basis:

· Historic basis – unlikely to give a realistic value as it is dependent on the business’s net book value.

· Replacement basis – if the assets are to be used on an on-going basis.

· Realisable basis – if the assets are to be sold, or the business as a whole broken up.

	Example 1

	The summary statement of financial position of ABC Co is as follows.

Non-current assets

$

$

Land and buildings

160,000

Plant and machinery

80,000

Motor vehicles

20,000

260,000

Goodwill

20,000

Current assets

Inventory

80,000

Receivables

60,000

Short-term investments

15,000

Cash

5,000

160,000

Total assets

440,000

Equity and liabilities

Equity

Ordinary shares of $1

80,000

Reserves

140,000

4.9% preference shares of $1

50,000

270,000

Non-current liabilities

12% loan notes

60,000

Deferred taxation

10,000

70,000

Current liabilities

Payables

60,000

Taxation

20,000

Proposed ordinary dividend

20,000

100,000

440,000

What is the value of an ordinary share using the net assets basis of valuation?

Solution:

If the figures given for asset values are not questioned, the valuation would be as follows.

$

$

Total value of assets less current liabilities

340,000

Less: Intangible asset (goodwill)

20,000

Total value of assets less current liabilities

320,000

Less: Preference shares

50,000
Loan notes

60,000

Deferred taxation

10,000

120,000

Net asset value of equity

200,000

No. of ordinary shares

80,000

Value per share

$2.50




2.2
Income-based valuations
2.2.1
P/E ratio method:

· Use an adjusted P/E ratio from a similar quoted company or industry average.

· Estimate the future earnings, the following should be considered:

· Earning growth to be achieved?

· If yes, estimate the growth rate
· Using the following formula:

P/E = Market price per share / EPS

	Example 2

	Catcher wishes to make a takeover bid for the shares of an unquoted company, Julyfly. The earnings of Julyfly. The earnings of Julyfly over the past five years have been as follows.

2006

$50,000

2009

$71,000

2007

$72,000

2010

$75,000

2008

$68,000

The average P/E ratio of quoted companies in the industry in which Julyfly operates is 10. Quoted companies which are similar in many respects to Julyfly are:

(a)
Bumblebee, which has a P/E ratio of 15, but is a company with very good growth prospects.

(b)
Wasp, which has had a poor profit record for several years, and has a P/E ratio of 7.

What would be a suitable range of valuations for the shares of Julyfly?

Solution:

(a)
Earnings. Average earnings over the last five years have been $67,200, and over the last four years $71,500. There might appear to be some growth prospects, but estimates of future earnings are uncertain.

A low estimate of earnings in 2011 would be, perhaps, $71,500.

A high estimate of earnings might be $75,000 or more. This solution will use the most recent earnings figure of $75,000 as the high estimate.

(b)
P/E ratio. A P/E ratio of 15 (Bumblebee’s) would be much too high for Julyfly, because the growth of Julyfly earnings is not as certain, and Julyfly is an unquoted company.

On the other hand, Julyfly’s expectations of earnings are probably better than those of Wasp. A suitable P/E ratio might be based on the industry’s average, 10; but since Julyfly is an unquoted company and therefore more risky, a lower P/E ratio might be more appropriate: perhaps 60% to 70% of 10 = 6 or 7, or conceivably even as low as 50% of 10 = 5

The valuation of Julyfly’s shares might therefore range between:

High P/E ratio and high earnings: 7 × $75,000 = $525,000; and

Low P/E ratio and low earnings: 5 × $71,500 = $357,500.


2.2.2
We can incorporate earnings growth into this method in the same way as the dividend growth model:
[image: image1.emf]
	Example 3

	A company has the following results:

2009

2010

2011

2012

$m

$m

$m

$m

Profit after tax

6.0

6.2

6.3

6.3

The company’s cost of capital is 12%.

Market value

=

Earnings × (1 + g)

(Ke – g)
Earnings = $6.3m

Ke = 12%

6.0 × (1 + g)3 = 6.3

g = 0.0164 or 1.64%

Market value

=

6.3 × 1.0164

(0.12 – 0.0164)
=

$61.81 million




2.2.3
Problems with using P/E ratio

· Not easy to find a similar quoted company that are often diversified.

· A single year’s P/E ratio may not be a good basis.

· If a P/E ratio trend is used, then historical data may not be a good guess for the future.

· The quoted company may have a different capital structure to the unquoted company.

2.2.4
Earning yield method:
· Same as P/E ratio method, the formula is just the reciprocal of P/E ratio as follows:

	Earnings yield = 
	EPS
	x 100%

	
	Market price per share
	


2.3
Dividend Valuation Model (DVM)
2.3.1
The following formula can be applied:

· For no growth –
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Where: D0 = Current year’s dividend

g = Growth rate in earnings and dividends

D0(1+g) = D1 = Expected dividend in one year’s time

Ke = Shareholders’ required rate of return

P0 = Ex div Market value

2.3.2
The growth rate can be estimated by one of the following methods:
· By simple average of each year’s growth rate

· By geometric mean of the oldest year and current year

Newest dividend = Oldest dividend × (1 + g)n
· By Gordon’s growth model
g = b × r

b = retention ratio

r = ROCE or ROI or ROA or ARR
2.3.3
Assumptions of dividend model:
· Investors act rationally and homogenously
· The current dividend (D0) used does not vary significantly – if not, better to adjust the trend figure

· The estimation of future dividends, growth rate and cost of capital are reasonable
· Assume company must have dividend payout
· Discount rate (cost of capital) must exceed the growth rate
2.3.4
Weaknesses of dividend growth model in valuing a company and its shares:
· The future dividend growth rate
· Based on the assumption that the future growth rate is constant
· But, in reality, is very rare

· May be as less of a problem if the future growth rate is regarded as an average growth rate

· The cost of equity
· Assumes that the future cost of equity is constant, when in reality it changes quite frequently
· Can be calculated using the CAPM, but this model usually employs historical information, which may not reflect accurately expectations about the future.

· Zero dividends

· Cannot be used when no dividends are paid
· However, if dividends are forecast to be paid, the dividend growth model can be applied

2.4
Discounted cash flow basis

2.4.1
How the method apply?
1. Identify relevant free cash flow
· Sales

· Less: operating costs

· = EBIT (or taxable cash flows)

· Less: Tax

· Add: non-cash items, e.g. depreciation and amortization
· Add: interest previously charged to income statement

· Add: tax benefits of depreciation allowance

· Less: incremental investment in working capital

· Less: capital investment

2. Select a suitable time horizon
3. Calculate the PV over this time horizon

4. Deduct the value of debt (if any) to leave the value of equity

2.4.2
Advantages and disadvantages:

	Advantages
	Weaknesses

	· Theoretically the best method
· Can be used to value part of a company
	· It relies on estimates of both cash flows and discount rates – may be unavailable

· Difficulty in choosing a time horizon
· Difficulty in valuing a company’s worth beyond this period
· Assumes that the discount rate, tax and inflation rates are constant through the period


	Question 1
John is a young entrepreneur who owns two companies in Hong Kong. One of his companies is Glitters Company Ltd which manufactures high-end festival decorations. However, since the US and UK entered the economic downturn, Glitters has been facing an increasingly difficult business environment as these two markets account for about three quarters of its annual sales. Glitter’s funding shortfall by the end of the year will be HK$574 million.
To keep Glitters afloat, John has decided to sell his other company, Goldsteron. This company is a distributor of artificial jewellery products. Although Goldsteron is still making a decent profit, John believes that the competition will be keen in a few years time when more competitors from Mainland China enter this market. Through the introduction of a banker, he has started discussions with Adam who is interested in buying the Goldsteron business. After conducting preliminary due diligence, Adam has obtained the following financial information:
· The current annual sales are HK$1,386 million, and growth rates for the next four years are estimated to be 12%, 11%, 10% and 9%. In year 5 and thereafter, the growth rate will stabilise at 8%.

· The pre-tax profit margin is 13.5% and Adam expects that the margin can be maintained at this level in the future.

· Depreciation expenses are calculated as 11.5% of EBIT.

· The working capital requirements are about 20% of sales. At the end of June, the working capital stood at HK$165 million.

· The additional capital expenditure requirements are estimated to be 10% of sales for year 1 and year 2, reducing to 6% in years 3 and 4 and thereafter.

· The tax rate is 17%.

· Goldsteron’s total external borrowing amounted to $133.5 million.
Required:

(a)
Adam overheard from the market that John is in need of cash and thus Adam makes a conservative offer by applying a hurdle rate of 15.5% to calculate the enterprise value of Goldsteron. What is the price that Adam will offer if he is only prepared to pay only for the NPV of the equity value?
(15 marks)

(b)
John wishes to maintain a minimum cash level of HK$500 million after selling Goldsteron by the end of the year. Can this be achieved if he accepts Adam’s offer?


(2 marks)

(c)
If not, what is the hurdle rate that John should counter-offer Adam in order to achieve the minimum cash level of HK$500 million?
(5 marks)



(Total = 22 marks)


(HKICPA Module B Corporate Financing May 2010 Q5)


	Question 2 – Difference business valuation methods
The directors of Carmen, a large conglomerate, are considering the acquisition of the entire share capital of Manon, which manufactures a range of engineering machinery. Neither company has any long-term debt capital. The directors of Carmen believe that if Manon is taken over, the business risk of Carment will not be affected.

The accounting reference date of Manon is 31 July. Its balance sheet as on 31 July 2004 is expected to be as follows.

$

$

Non-current assets (net of depreciation)

651,600

Current assets

Inventory and WIP

515,900

Receivables

745,000

Bank balances

158,100

1,419,000

2,070,600

Capital and reserves

Issued ordinary shares of $1 each

50,000

Distributable reserves

404,100

454,100

Current liabilities

Payables

753,600

Bank overdraft

862,900

1,616,500

2,070,600

Manon’s summarized financial record for the five years to 31 July 2004 is as follows.

Year ended 31 July

2000

2001

2002

2003

2004

(estimated)

$

$

$

$

$

Profit before non recurring items

30,400

69,000

49,400

48,200

53,200

Non recurring items

2,900

(2,200)

(6,100)

(9,800)

(1,000)

Profit after non recurring items

33,300

66,800

43,300

38,400

52,200

Less dividends

20,500

22,600

25,000

25,000

25,000

Added to reserves

12,800

44,200

18,300

13,400

27,200

The following additional information is available.

1.
There have been no changes in the issued share capital of Manon during the past five years.

2.
The estimated values of Manon’s non-current assets and inventory and work in progress as on 31 July 2004 are as follows.

Replacement cost

Realisable value

$

$

Non-current assets

725,000

450,000

Inventory and work in progress

550,000

570,000

3.
It is expected that 2% of Manon’s receivables at 31 July 2004 will be uncollectible.

4.
The cost of capital of Carment plc is 9%. The directors of Manon estimate that the shareholders of Manon require a minimum return of 12% per annum from their investment in the company.

5.
The current P/E ratio of Carmen is 12. Quoted companies with business activities and profitability similar to those of Manon have P/E ratios of approximately 10, although these companies tend to be much larger than Manon.

Required:

(a)
Estimate the value of the total equity of Manon as on 31 July 2004 using each of the following bases:

(i)
Balance sheet value;

(ii)
Replacement cost of the assets;

(iii)
Realisable value of the assets;

(iv)
The dividend valuation model;

(v)
The P/E ratio model.



(13 marks)

(b)
Explain the role and limitations of each of the above five valuation bases in the process by which a price might be agreed for the purchase by Carment of the total equity capital of Manon.
(6 marks)

(c)
State and justify the approximate range within which the purchase price is likely to be agreed.
(6 marks)



(25 marks)


	Question 3 – Business valuation methods
Alf Tighs is the managing director of Sutcha and Sutcha plc, a large advertising company. As well as having entrepreneurial skills in advertising, Alf is also a car enthusiast. In particular he has a passion for old Italian sports cars and it is this passion that has resulted in a business opportunity for the firm. At a recent party Alf discovered that Nick Nasom, drummer with the famous rock group Plink Void, owned a garage that imported Italian sports cars. Furthermore, Nick was keen to sell the business to give more time for writing rock operas. Alf feels that this is an opportunity not to be missed and that Sutcha and Sutcha should buy the garage.

Summary financial statement are as follows.
Statement of financial position as at 31 December 2006
$000
Note
Non-current assets
Freehold garage (NBV)

100
1
Pumps, desks, etc (NBV)

8

2

108

Inventory of Italian sports cars (at cost)

200
3

Shares in British Car Auctions Ltd (at cost)

10
4

Other net current assets

27

345

Bank loan

(50)

295

Income statement for the year ended 31 December 2006
$000
Note
Gross profit on garage (excluding car sales)
40
Profit on disposal of cars

100
5
Dividends received from BCA

1

Interest payable

(8)

133

Notes:

1.
The freehold garage is currently worth $150,000 or could be leased for approximately $15,000 per annum.

2.
Other fixed assets have a net realisable value of $2,000.

3.
The current inventory of sports cars comprises two vehicles.

(i)
1963 Masoringhi 365 – cost $120,000

(ii)
1970 Ferrati Beano 246 – cost $80,000

Both models are extremely rare so it is difficult to estimate current value. The last time a Masoringhi sold was three years ago for $200,000. Unfortunately the classic car market has been depressed since then. As for the Ferrati Beano, prices reached $500,000 five years ago but a similar car fetched $130,000 at an auction six months ago.

4.
The BAC Ltd shares are currently valued at $25,000.

5.
The profit on car disposals relates to six cars which Nick sold to rock musician friends over the last year. In fact the majority of purchases and sales occur with music industry colleagues.
Like most garages dealing with old sports cars, Nick’s firm is unquoted. Some P/E ratios for large firms in the car industry are given below.

Company
P/E
Market capitalization ($m)
Business
Volvo
5
4,000
Car manufacturer
Evans Halshaw

13

136

Car dealer and garage services

Lex Service

17

332

Car dealer and garage services

Kwik-Fit

16

287

Exhausts, suspensions, tyres, etc

(Sutcha and Sutcha

20)

Required:

Calculate the value of the garage business using the following techniques.

(a)
Net book value of assets less liabilities.

(b)
Net realisable value of assets less liabilities.

(c)
Applying a suitable P/E ratio to the earnings of the business.

For each technique detail any reservations you have with the figures used.



(15 marks)


2.5
The comparables method

(a)
The P/E method for comparables

2.5.1
The P/E ratio to be used is typically determined by taking the average of the P/E ratio for similar companies within the same industry.

2.5.2
A similar company is one that has comparable growth, risk, financial leverage and dividend payout.

2.5.3
The P/E ratio and EPS can be measured on a trailing basis using current EPS or on a forward basis using expected (or next year’s) EPS.

P0 = P/E (industry) × EPS (firm)
(b)
Enterprise value using EBIT and EBITDA
2.5.4
When valuing a firm, a popular approach is the enterprise value (EV) approach that is based on either the EV/EBIT or the EV/EBITDA ratio.

2.5.5
EV is the sum of the market value of equity plus book value of interest-bearing debt less cash.

2.5.6
The market value of equity is the share price times the number of shares on issue.

EV0 = (EV/EBIT) (industry) × EBIT (firm) or
EV0 = (EV/EBITDA) (industry) × EBITDA (firm)
	Example 4

	The owners of Company A are planning the flotation of their company, and are trying to estimate a possible valuation for the company’s equity. In the stock market, Company B is considered the listed company with the closest business profile to Company A. The shares of Company B are trading at $22 per share and a total of 40 million shares are in issue. The two companies' key financial data for the most recent financial year are as follows:
Company A

Company B

$m

$m

Sales

150.0

350.0

Earnings after tax

30.0

64.0

Depreciation expenses

3.2

6.5

Required:

(a)
Advise the founders of the estimated equity values of Company by using the comparable method, with reference to the following ratios:
(i)
price-to-sales ratio

(ii)
price-to-earnings ratio

(iii)
price-to-cash ratio

(b)
Briefly discuss the pros and cons of using the comparable method for valuation of equity.

Solution:

(a)

Company A

Company B

$m

$m

Sales

150.0

350.0

Earnings after tax

30.0

64.0

Depreciation expenses

3.2

6.5

No. of shares issue (HK$m)

n/a
40.0

Share price (HK$)

n/a

22.0

Data on per-share basis

Company B

$
Sales per share (350/40)

8.75

EPS (64/40)

1.60

Cash earnings per share (64 + 6.5)/40

1.76

Multiples of comparable firm
Company B

$
Price-to-sales ratio (22/8.75)

2.51

Price-to-earnings ratio (22/1.6)

13.75

Price-to-cash earnings ratio (22/1.76)

12.5

Estimation of Company A’s equity value
$
Price-to-sales ratio (150 × 2.51)
376.5
Price-to-earnings ratio (30 × 13.75)
412.5
Price-to-cash earnings ratio (30 + 3.2) × 12.50
415.0
(b)

For and against using the comparable method for valuation of equity:

For:

(i)
Simpler and quicker calculation without the need for explicit assumptions.

(ii)
Easier to understand the logic.

(iii)
Reflects the relative value and market sentiment.

Against:

(i)
Apart from the multiples, other variables such as risk, growth or cash flow potential are not considered.

(ii)
Unstable market sentiment can easily lead to overvaluing or undervaluing comparable firms.

(iii)
No two firms are exactly the same; therefore finding a comparable firm is difficult.


3.
Valuation of Debts and Preference Shares
3.1
The formulae for the various types of finance are as follows:
	Type of finance
	Market value

	Irredeemable debt without tax
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	Redeemable debt
	MV = PV of future interest and redemption receipts, discounted at investors’ required returns

	Preference shares
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	Question 4 – Convertible debt
Techfools.com has just issued convertible debentures with an 8% per annum coupon to the value of $5m. The nominal value of the debentures is $100 and the issue price was $105. The conversion details are that 45 shares will be issued for every $100 convertible debentures held with a date for conversion in five years exactly. Redemption, should the debenture not be converted, will also take place in exactly five years. Debentures will be redeemed at $110 per $100 nominal convertibles held. It is widely expected that the share price of the company will be $4 in five years’ time.
Assume an investor required return of 15%.
Ignore taxation in your answer.
Required:
(a)
Briefly explain why convertibles might be an attractive source of finance for companies.
(4 marks)
(b)
(i)
Estimate the current market value of the debentures, assuming conversion takes place, using net present value methods and assess if it is likely that conversion will take place.
(5 marks)
(ii)
Identify and briefly comment on a single major reservation you have with your evaluation in part b(i).
(2 marks)
(c)
Explain why an issuing company seeks to maximise its conversion premium and why companies can issue convertibles with a high conversion premium.


(4 marks)
(d)
Discuss the factors to be considered by a listed company when choosing between an issue of debt and an issue of equity finance.
(10 marks)


(Total 25 marks)


Part II Market Efficiency
4.
Features of Efficient Market
4.1
It has been argued that the UK and US stock markets are efficient capital markets, that is, markets in which:

· The prices of securities bought and sold reflect all the relevant information which is available to the buyers and sellers: in other words, share prices change quickly to reflect all new information about future prospects.

· No individual dominates the market.

· Transaction costs of buying and selling are not so high as to discourage trading significantly.

· Investors are rational.
5.
Forms of market efficiency
5.1
Weak form efficiency:

· Share prices fully and fairly reflect past information

· Investors cannot generate abnormal returns by analyzing past information, such as price movements in previous time periods

· Share price appear to follow a random walk by responding to new information as it becomes available

5.2
Semi-strong form efficiency:

· Share prices fully and fairly reflect public information as well as past information
· Investors cannot generate abnormal returns by analyzing either public information, such as published company reports, or past information

5.3
Strong form efficiency:

· Share prices fully and fairly reflect not only public information and past information, but private information as well

· Investors with access to insider information cannot generate abnormal returns in such a market.

	Question 5 – Valuation Methods, Convertible Bond and EMH

(a)
Phobis Co is considering a bid for Danoca Co. Both companies are stock-market listed and are in the same business sector. Financial information on Danoca Co, which is shortly to pay its annual dividend, is as follows:
Number of ordinary shares
5 million
Ordinary share price (ex div basis)
$3.30
Earnings per share

40.0c

Proposed payout ratio

60%

Dividend per share one year ago

23.3c

Dividend per share two years ago

22.0c

Equity beta

1.4

Other relevant financial information 

Average sector price/earnings ratio

10

Risk-free rate of return

4.6%

Return on the market

10.6%

Required:

Calculate the value of Danoca Co using the following methods:

(i)
price/earnings ratio method;

(ii)
dividend growth model;

And discuss the significance, to Phobis Co, of the values you have calculated, in comparison to the current market value of Danoca Co.
(11 marks)

(b)
Phobis Co has in issue 9% bonds which are redeemable at their par value of $100 in five years’ time. Alternatively, each bond may be converted on that date into 20 ordinary shares of the company. The current ordinary share price of Phobis Co is $4·45 and this is expected to grow at a rate of 6·5% per year for the foreseeable future. Phobis Co has a cost of debt of 7% per year.
Required:

Calculate the following current values for each $100 convertible bond:

(i)
market value;

(ii)
floor value;

(iii)
conversion premium
(6 marks)
(c)
Distinguish between weak form, semi-strong form and strong form stock market efficiency, and discuss the significance to a listed company if the stock market on which its shares are traded is shown to be semi-strong form efficient.
(8 marks)



(Total 25 marks)


6.
Implications of Efficient Market Hypothesis for the Financial Manager
6.1
Significance of efficient market hypothesis (especially in semi-strong form and strong form):
· Any information relating to the company is quickly and accurately reflected in its share price
· Managers will not be able to deceive the market by the timing or presentation of new information, such as annual reports or analyst’s briefings, since the market processes the information quickly and accurately to produce fair prices

· Managers should therefore simply concentrate on making financial decisions which increase the wealth of shareholders
· Only if the market is semi-strongly efficient, and the financial managers possess inside information that would significantly alter the price of the company’s shares if released to the market, could they perhaps gain an advantage. However attempts to take account of this inside information may breach insider dealing laws.
7.
Practical Consideration in the Valuation
7.1
Marketability and liquidity of shares:

· In general, large companies, with hundreds of millions of shares in issue, and high numbers of shares changing hands ever day, have good liquidity. In contrast, small companies with few shares in issue and thin trading volumes, can have very poor liquidity.
· The marketability of shares in a private company, particularly a minority shareholding, is generally very limited, a consequence being that the price can be difficult to determine.
7.2
Availability and sources of information:

· It was stated that an efficient market is one where the prices of securities bought and sold reflect all the relevant information available.
· Efficiency relates to how quickly and how accurately prices adjust to new information.
7.3
Market imperfections and pricing anomalies (異常)
· Seasonal month-of-the-year effects, day-of-the-week effects and also hour-of-the-day effects seem to occur, so that share prices might tend to rise or fall at a particular time of the year, week or day.

· There may be a short-run overreaction to recent events. For example, the stock market crash in 1987 when the market went into a free fall, losing 20% in a few hours.
7.4
Market capitalization
· The market capitalisation is the market value of a company's shares multiplied by the number of issued shares.
· The market capitalisation or size of a company has also produced some pricing anomalies.
· The return from investing in smaller companies has been shown to be greater than the average return from all companies in the long run. This increased return may compensate for the greater risk associated with smaller companies, or it may be due to a start from a lower base.
Additional Examination Style Questions

Question 6 – Business valuation methods and WACC
Recent financial information relating to Close Co, a stock market listed company, is as follows.
	
	$m

	Profit after tax (earnings)
	66.6

	Dividends
	40.0


Statement of financial position information:
	
	$m
	$m

	Non-current assets
	
	595

	Current assets
	
	125

	Total assets
	
	720

	
	
	

	Current liabilities
	
	70

	Equity
	
	

	Ordinary shares ($1 nominal)
	80
	

	Reserve
	410
	

	
	
	490

	Non-current liabilities
	
	

	6% bank loan
	40
	

	8% bonds ($100 nominal)
	120
	

	
	
	160

	
	
	720


Financial analysts have forecast that the dividends of Close Co will grow in the future at a rate of 4% per year. This is slightly less than the forecast growth rate of the profit after tax (earnings) of the company, which is 5% per year. The finance director of Close Co thinks that, considering the risk associated with expected earnings growth, an earnings yield of 11% per year can be used for valuation purposes.
Close Co has a cost of equity of 10% per year and a before-tax cost of debt of 7% per year. The 8% bonds will be redeemed at nominal value in six years’ time. Close Co pays tax at an annual rate of 30% per year and the ex-dividend share price of the company is $8.50 per share.
Required:
(a)
Calculate the value of Close Co using the following methods:
(i)
net asset value method;

(ii)
dividend growth model;

(iii)
earnings yield method.
(5 marks)
(b)
Discuss the weaknesses of the dividend growth model as a way of valuing a company and its shares.
(5 marks)
(c)
Calculate the weighted average after-tax cost of capital of Close Co using market values where appropriate.
(8 marks)
(d)
Discuss the circumstances under which the weighted average cost of capital (WACC) can be used as a discount rate in investment appraisal. Briefly indicate alternative approaches that could be adopted when using the WACC is not appropriate.
(7 marks)



(25 marks)
Question 7 – P/E method, dividend valuation model, WACC and types of risk
Corhig Co is a company that is listed on a major stock exchange. The company has struggled to maintain profitability in the last two years due to poor economic conditions in its home country and as a consequence it has decided not to pay a dividend in the current year. However, there are now clear signs of economic recovery and Corhig Co is optimistic that payment of dividends can be resumed in the future. Forecast financial information relating to the company is as follows:
	Year
	1
	2
	3

	Earnings ($000)
	3,000
	3,600
	4,300

	Dividends ($000)
	Nil
	500
	1,000


The company is optimistic that earnings and dividends will increase after Year 3 at a constant annual rate of 3% per year.
Corhig Co currently has a before-tax cost of debt of 5% per year and an equity beta of 1·6. On a market value basis, the company is currently financed 75% by equity and 25% by debt.
During the course of the last two years the company acted to reduce its gearing and was able to redeem a large amount of debt. Since there are now clear signs of economic recovery, Corhig Co plans to raise further debt in order to modernise some of its non-current assets and to support the expected growth in earnings. This additional debt would mean that the capital structure of the company would change and it would be financed 60% by equity and 40% by debt on a market value basis. The before-tax cost of debt of Corhig Co would increase to 6% per year and the equity beta of Corhig Co would increase to 2.
The risk-free rate of return is 4% per year and the equity risk premium is 5% per year. In order to stimulate economic activity the government has reduced profit tax rate for all large companies to 20% per year.
The current average price/earnings ratio of listed companies similar to Corhig Co is 5 times.
Required:
(a)
Estimate the value of Corhig Co using the price/earnings ratio method and discuss the usefulness of the variables that you have used.
(4 marks)

(b)
Calculate the current cost of equity of Corhig Co and, using this value, calculate the value of the company using the dividend valuation model.
(6 marks)

(c)
Calculate the current weighted average after-tax cost of capital of Corhig Co and the weighted average after-tax cost of capital following the new debt issue, and comment on the difference between the two values.
(6 marks)

(d)
Discuss how the shareholders of Corhig Co can assess the extent to which they face the following risks, explaining in each case the nature of the risk being assessed:
(i)
Business risk;

(ii)
Financial risk;

(iii)
Systematic risk.
(9 marks)



(25 marks)
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